H B #E & 8%
HYDRAULIC SHOCK ABSORBER

s o
¥ Eh l .
1. SC RIBEBRUITIE
ImmFIHELE -
- BEEEF RN DBE - _
3. EREEIEETREER )
RINEE - 3
4. BETNSIHEGRDERE .
BEDD - 1B IR EE -

n

BWITIZRAEA -

HEEEHSETELS HEDHIFE
'
HEE — . 2 -
[1 / \ PUEE /
N ERET SEEEAR
\ / [ sc/sFc nmEmsE| | /
R ] ]
: = I S
SEE I
peai g5 /
/ P2
/// \\
BURITIE
A BT
B ERNEREMRITEENER D HRE
‘M E
SC 25 X 40 1 NC
| | | |
3l 5N 7 2 xEE
\ \
SC SERARER It | JONBZIESE
2 | BARDE NC| REZIETE
SCD 3 | BARER
SFC

4 16.01



SC *3!

HEEHESRESTELAIN
Ex(Nm): EhEE
Eo(Nm): BEENEEE
ErlNm): $ESHEE
Erc(Nm): B/\EHEEES
FIN): #£5E7=0.00785 Pd®

Fm(N): SRAEED=1.2ET/S (#HH)

glm/s®): ENNRE

o ERRREL

6 (rad):ZiEEBARMEAE
@ (rad/s).BRE

Melkg): BEEE
CHr: B/ NFZIERE

dimm): RELRE
him): BE

HM: FREHIERE=2.5
m(kg): IBENMREES
P(bar): {EENET]
Rim): &

Rs(m): SHIEEE S Eiesscn\avEERE
S(m): SHEBERTIE
TINm): BEENHT]
tlsec): BERIFHE
Vim/s): EEERE
KWikw): EBENFENR

H B #% 18] 2= {5 A3 &E 51

(1) BEMIDNIHEEDRVPEE | (2) ;2 BMIN0HEE DS (3) BEEEEE
[
F—  V— — = ?[
e e e |\ @w
ﬁz’%zm&;“@j# ﬁiﬁm&gd@wu ] J‘V
2 2
e Ex L _mxVe mxgxh
2 2
T{FeEE Eo FxS 0 MXgXs
BESEEE Er Ex+Eb Ex+Eb Ex+Eb
BHIIFHEEES Ec ErxC ErxC ErxC
2xE 2xE
EWEEE Me 7’; = m 7X\/2 i
BHREEERE Vv - - v Bxgxh
olER SC2540 ; SD3650 SC1415-1 ; SD4250 SC2580-1 ; SA3660
(4) FBERENYEE (5) REZEZ (B) e EE =
v ’_%ﬁ %yﬁl
-
2
Bhte Ex m;\/ 0.25XmXV12
. (TxS)
it - ‘IOOOXKWi(/HMXSTXS MXSXSinoXg F>:S
BSEESE Er Ex+Eb Ek+Eo Ex+Eo
B/\I5EREE Etc Erx C Erx C Erx C
e 2 x Er 2xEr 2 x Er
BYEEE Me e —e v
g > (VTxRs)
BEEEREE \Y - v 2gxLxSind "Rt
[=1pE =] SC3660-2 ; SD4275 SC2540-1 ; SD4275 SC3660-3 ; SD4250

4 16.02



N HEBEES
HYDRAULIC SHOCK ABSORBER

AR Tk
SC0806 SC0806-NC
MBX1.0P 58 B=11 © MBX1.0P 58 B=11 ©
C=12.8 o C=12.8) o
_ Q o 0 )
ﬂ =
L - L T
L : :
5 35.5 5 |85 S 5 35.5 6
55 46.5
BRBRARBEEZ | RABYEE
\\g] kg(Me)
SC0806-1 6 1.8 0.9~5.6 2 2400 -10~+70
SC0806-2 B 1.8 2.5~10 1.2 2400 -10~+70
SC0806-3 B 1.8 5.6~22.5 0.8 2400 -10~+70
SC1008 SC1008-NC
M10X1.0P #i8 B=12.7 M10X1.0P 2 B=12.7
(C=14.5) / (C=14.5)
M w [te} ] #
] i ) —1
™ [a2]
sl 5 _ 2
5 40.5 8_|85 5 40.5 8
62 53.5

BRABVES
Nm kg(Me)
SC1008-1 8 3.2 0.9~4.4 2.6 5760 -10~+70
SC1008-2 8 3.2 2.8~10 1.5 5760 -10~+70
SC1008-3 8 3.2 10~40 0.8 5760 -10~+70
SC1210 SC1210-NC
M12X1.0P $18 B=14 M12X1.0P $i8 B=14
C=16) ® C=16) @
o ‘ o o
] 1 ] i
0
4 = 4
45 48 10_85 8 45 48 10
72 62.5
BRABYES INEFIRUREES
kg(Me) Nm
SC1210-1 10 6 1.8~12 2.6 10800 -10~+70
SC1210-2 10 6 5.3~18.7 1.5 10800 -10~+70
SC1210-3 10 6 18.7~75 0.8 10800 -10~+70

4 16.03



SD/SC %l

CA
NEERTI*E
SC1415 SC1415-NC
M14X1.5P #58 B=19 o M14X1.5P 558 B=19 o
[M14X1.DP]i (C=21.8) 8‘ (M14X1.0P)\ (C=21.8) 8
I i
L ! . f
6 ai 6]
8 67 15 _| 12 Q 8 67 15
102 90

BABRARNEE| EABYEE | REEEEE | 8/)\FHRIE

Nm kg(Me)
SC1415-1 15 20 5.9~40 2.6 36000 -10~+70
SC1415-2 15 20 17.8~62.5 1.5 36000 10~ +70
SC1415-3 15 20 62.5~250 0.8 36000 -10~+70
SC2020 SC2020-NC
M20X1.5P #32 B=26 M20X1.5P 12 B=26
(C=29.7) Ts) (C=29.7) 0
Q S
- Bt - *
] . ]
N
i s N
9 85 20 ‘ 14 9 85 20
128 114

BREARBEE| SABMEE 3 INFIRUREES FRRE
Nm kg(Me) Nm °C
SC2020-1 20 35 6.8~27 3.2 42000 -10~+70
SC2020-2 20 35 17.5~70 2 42000 -10~+70
SC2020-3 20 35 48.6~777 1.2 42000 -10~+70
SC2050
M20X1.5P #1i2 B=26
(C=29.7) )
Q
- T
L | } U
e8]
8 =
— Q
9 147.5 50 14
220.5

ReEERE | BIERINEE ERRE

m/s Nm °C
SC2050-1 50 62 7~120 4.2 63240 -10~+70
SC2050-2 50 62 18.3~86 2.6 63240 -10~+70
SC2050-3 50 B2 55~496 1.5 63240 -10~+70

4 16.04



N HEEES

©

HYDRAULIC SHOCK ABSORBER

#1h& B=32
(C=36.7)

28

25

NEERTiE
SC2525 SC2525-NC
2 B= )

M25X1.5P (CZEE)RB%E o M25X1.5P
T of
RS

,l_l‘ﬂ »L_j 10
10 101 25 4.5 10
150.5

Nm
SC2525-1 25 78 15~69 3.2 70200 -10~+70
SC2525-2 25 78 39-433 2 70200 -10~+70
SC2525-3 25 78 108~1733 1.2 70200 -10~+70
SC2540
M25X1.5P #1382 B=32
(C=36.7) 2
71 N
L1
aQ
10 9
10 127 40 32

209

BREARIEE RABYEE
Nm kg(Me)
SC2540-1 40 122 20~108 3.5 87840 -10~+70
SC2540-2 40 122 50~381 2.2 87840 -10~+70
SC2540-3 40 122 244~1991 1 87840 -10~+70
SC2580
M25X1.5P #Hi2 B=32
(C=36.7) C&D
T o
[EPRS
M,ﬂ
137 100 80 14.5
331.5

BARRARKEE| SABVEESE ReEERE | B/EIRKEEE
\\[3]
SC2580-1 80 198 24.7~99 4 118800 -10~+70
SC2580-2 80 198 44396 3 118800 -10~+70
SC2580-3 80 198 176~1584 1.5 118800 -10~+70

4 16.05



SC R

AHRT &
SC3660
M3BX1.5P #1582 B=46 o
(C=53) =
Q
[ T (IS
] [ =
o
.15 =
11 134 95_ 60 _]225
247
BREARNES i B/)\FIRIREESE
Nm Nm
SC3660-1 60 260 57~231 3 124800 -10~+70
SC3660-2 60 260 130~813 2 124800 -10~+70
SC3660-3 60 260 520~3250 1 124800 -10~+70
SCD2030
AEHNEEERRE
M20X1.5P  #i& B=26
(C=29.7) 0
Q
= 0 (B
Tar
™~
B s
14| 30 76 40 7l 30 _14
211

BREARBEEE B B\RFIRUNEESE FRRE
\\[37] Nm
SCD2030-1 30 46 9~41 3.2 55200 -10~+70
SCD2030-2 30 46 23~144 2 55200 -10~+70
SCD2030-3 30 46 64~575 1.2 55200 -10~+70
SCD2035
EEHNENEZEER M20x1.5P o o
o}
A= ]
CD_
s S
14‘ 35 153.5 35 ‘14
251.5
BREXIRWEEE BIHEE B\EIRINEES
Nm m/s Nm
SCD2035-1 35 52 10~46 3.2 62400 -10~+70
SCD2035-2 35 52 26~162 2 62400 -10~+70
SCD2035-3 35 52 72~650 1.2 62400 -10~+70




N O nFEEE (TEZER)
HYDRAULIC SHOCK ABSORBER

A
AERYI R
SFC1410 SFC1410-NC
M14X1.5P 8 B=19 0 M14X1.5P 8 B=19 0
(M14X1.0P) (C=21.9) o (M14X1.0P) (C=21.9) / o
Q Q
] "
[aV]
sl 5 sl
11.5 67 10_| 12| ® 11.5 67 10
100.5 88.5

BiPEE =)\ FIRIEES

Nm m/s Nm
SFC1410 ‘ 10 ‘ 15 2.9~120 3.2 27000 -10~+70
SFC2016 SFC2016-NC
M20X1.5P #52 B=26 M20X1.5P #52 B=26
(C=29.7) 10 (C=29.7)
i |
B =
[e0]
N 0
s 5 e s
15 85 16 ‘ 14 15 85 16
130 1186

BRRARNEE BUEEE BIFRE ) \FFIRUNEEE
\\[3] Wel(kg) m/s Nm
SFC2016 | 16 | 28 5.4~224 3.2 33600 -10~+70
SFC2525 SFC2525-NC
M25X1.5P 4§32 B=32 M25X1.5P #932 B=32
(C=36.7) @

L

— [se}
(C=36.7 ey
f
10 10

15.5 101 25 14.9 15.5 101 25
158 141.5

1712 BAURARINEESE BiPEE B\ FIRIEES

mm Nm m/s Nm
SFC2525 25 78 15~624 3.2 70200 -10~+70

4 16.07



SFC #%l

NERT*E
SFC2540
M25X1.5P #i2 B=32
(C=36.7) g
TH——+1 1IN
[——— 1
a
10 &
15.5 127 40 32
214.5

‘@K%KWW%

BIPEE B\EIRIEES
YEILG)) m/s

Nm
SFC2540 40 122 ‘ 23.8~976 3.2 87840 -10~+70
SFC3650
M36X1.5P $52 B=46 o
(C=53) -
Y
g T———1
I
o
.15 Q
18 138 9.5 50 P2.5
248

=)\ FIRIEEE

Nm

SFC3650 | 50 | 105600 | -10~+70

4 16.08



N ONBEES
HYDRAULIC SHOCK ABSORBER

ENfFILIRIEERE T

EMRIETREZIETRE

A
/ S ¥
’—rif_\ ) AR )\

@ D W =

A/ | - i A/ n/
ELHFLEIRIE
EEY

L]

W3

ft
et
i3
L]
R

328 FA MY 14
[ =y4 ==
EESES RS BERAE
M8X1.0P M20X1.5P SC2020
4 ) SC2050
SCO0S8 2 B SCc20 R R SFC2016
o/ SC0806 W/ | scD2030
| . \ s - SCD2035
M10X1.0P M25X1.5P
SC10 [ < SC1008 scas | [/ - L SC2525
) N ° 2 SFC2525
12.7 17 32 ‘ 46
M12X1.0P M25X1.5P
o Y . . (| sc2540
SC12 ° SC1210 SC25L e T | SC2580
‘ SFC2540
|14 20 32 66
M14X1.5P M36X1.5P
sc14 | [V e o [ | SCl415 sc36 [V g e 1| SC3660
o - SFC1410 \ | | SFC3650
! 19 27 ‘ 46 80

4 16.09





